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SECONDARY SCHOOL EXAMINATION – 2020 (ANNUAL) 

SOCIAL SCIENCE (Model Set) 

Time : 2 Hrs.45 Minutes      Full marks-80

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s x, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz'u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted to read the question 

paper carefully. 

4- ;g iz’u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c- 

This question paper has two sections, Section-A and Section-B. 

5- [k.M&v esa 48 oLrqfu"B iz’u gSa] ftuesa 40 iz’uksa ds mÙkj nsus gSaA ;fn 

ijh{kkFkhZ 40 ls vf/kd iz’uksa ds mÙkj nsrs@nsrh gSa] rks izFke 40 mÙkjksa dk gh 

ewY;kadu fd;k tk,xkA izR;sd ds fy, 1 vad fu/kkZfjr gSA OMR mÙkj i=d 
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ij fn;s x;s lgh òr dks dkys@uhys ckWy isu ls HkjsA OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d ij iz;ksx ugha djsa vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In section -A there are 48 objective type questions, out of which 

40 questions are to be answered. If the candidate answers more 

than 40 questions only the first 40 answers will be evaluated. 

Each question carries 1 mark. Darken the correct circle on the 

OMR answer sheet with blue /black ball pen. Do not use Whitener 

/Liquid/ Blade/ Nail etc on the OMR answer sheet otherwise the 

result will be invalid. 

6- [k.M&c esa lkekftd foKku ds vUrxZr dqy 5 fo"k;ksa ds y?kq mŸkjh; iz’u gSaA 

izR;sd ds fy, 2 vad fu/kkZfjr gSA 

In section-B, there are short answer type questions of 5 subjects 

of social science. Each carries 2 marks.  

(i) bfrgkl esa 5 y?kq mÙkjh; iz’u ¼iz’u la[;k 1 ls iz’u la[;k 5½ gSaA ftuesa 

fdUgha 3 iz’uksa ds mŸkj nsus gSaA 

History has 5 short answer type questions (Q No. 1 to Q No. - 5) 

out of which any 3 questions are to be answered. 

(ii) jktuhfr foKku esa dqy 6 iz’u ¼iz’u la[;k 8 ls iz’u la[;k 13½ gSa ftuesa 

fdUgha 2 iz’uksa ds mŸkj nsus gSaA 
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Political Science has 6 short answer type questions (Q. No. 8 to 

Q. No. - 13), out of which any 2 questions are to be answered 

(iii) vFkZ’kkL= esa 3 y?kq mÙkjh; iz’u ¼iz’u la[;k 16 ls iz’u la[;k 18½ gSa ftuesa 

fdUgha 2 iz’uksa ds mŸkj nsus gSaA 

Economics has 3 short answer type questions (Q. No. 16 to Q. 

No. - 18), out of which any 2 questions are to be answered. 

(iv) Hkwxksy esa dqy 5 y?kq mÙkjh; iz’u ¼iz’u la[;k 21 ls iz’u la[;k 25½ gSa ftuesa 

fdUgha 3 iz’uksa ds mŸkj nsus gSaA 

Geography has 5 short answer type questions (Q. No. 21 to Q. 

No. - 25), out of which any 3 questions are to be answered. 

(v) vkink izca/ku esa dqy 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 28 ls iz’u la[;k 31½ gSa 

ftuesa fdUgha 2 iz’uksa ds mŸkj nsus gSaA 

Disaster Management has 4 short answer type questions (Q. No. 

28 to Q. No.- 31), out of which any 2 questions are to be 

answered. 

(vi) blds vfrfjDr 8 nh?kZ mŸkjh; iz’u ¼iz’u la[;k 6] 7] 14] 15] 19] 20] 26 vkSj 

27½ gSaA izR;sd ds fy, 4 vad fu/kkfjZr gSa bfrgkl ]jktuhfr foKku] vFkZ’kkL=] 

,oa Hkwxksy esa izR;sd ls ,d&,d iz’u dk mÙkj nsuk gSA 

Apart from these, there are 8 long answer type questions (Q. 6, 7, 

14, 15, 19, 20, 26, 27). Each carries 4 marks. One long answer 

type question each from History, Political Science, Economics 

and Geography is to be answered. 

8]      fdlh izdkj ds bysDVªkWfud&midj.k dk mi;ksx ugha djsaA 

Do not use any type of electronic instrument. 
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/ SECTION-A 

 / Objective Type Questions. 

iz'u la[;k 1 ls 48 rd ds izR;sd iz’u ds lkFk pkj fodYi gSa] ftuesa ls ,d lgh gSA 

fdUgha 40 iz’uksa ds mÙkj nssaA ;fn ijh{kkFkhZ 40 iz’uksa ls vf/kd ds mÙkj nsrs@nsrh gSa] rks 

izFke 40 mÙkjksa dk gh ewY;kadu gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA vius }kjk pqus 

x, fodYi dks OMR 'khV ij fpfUgr djsaA     (40x1=40) 

Question No. 1 to 48 have four options each, out of which only one is 

correct. Answer any 40 questions. If the candidate answers more than 40 

questions, only the first 40 answers will be evaluated. Each question carries 

1 mark. Mark your selected option on the OMR sheet.  (40x1=40) 

bfrgkl] jktuhfr foKku] Hkwwxksy] vFkZ’kkL=] ,oa vkink izca/ku% 

History, Political Science, Geography, Economics, and Disaster   

Management: 

1- **;wjksi dk ejht** fdls dgk tkrk Fkk \ 

(A) rqdhZ      (B) bVyh  

(C) baXyS.M     (D) Ýk¡l  

Who was called the “Sick man of Europe”? 

(A) Turkey     (B) Italy 

(C) England     (D) France 

2- **;ax bVyh** dh LFkkiuk fdlus dh Fkh \ 

(A) esftuh us     (B) dkcwj us 

(C) xSjhckYMh us    (D) fcLekdZ us 
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Who had founded Young Italy? 

(A) Mazzini     (B) Cavour 

(C) Garibaldi     (D) Bismark 

3- vUrjkZ"Vªh; efgyk fnol dc ekuk;k tkrk gS \ 

(A) 8 tuojh     (B) 8 ekpZ  

(C) 8 ebZ     (D) 8 tqykbZ 

When is International Women’s day celebrated? 

(A) 8 January    (B) 8 March 

(C) 8 May      (D) 8 July 

4- **vizSy Fkhfll** fdlus fy[kh \ 

(A) VªkVLdh us     (B) LVkWfyu us  

(C) ysfuu us     (D) dsjsUldh us 

Who wrote “April Thesis”? 

(A) Trotsky     (B) Stalin   

(C) Lenin     (D) Kerensky 

5- Lkksfo;r la?k dk fo?kVu fdl o"kZ gqvk \ 

(A) 1964 esa     (B) 1985 eas   

(C) 1990 esa     (D) 1991 esa 
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In which year did the Soviet Union disintegrate? 

(A) 1964     (B) 1985   

(C) 1990     (D) 1991 

6- vadksjokV esa fdl fgUnw nsork dk eafnj gS \ 

(A) fo".kq     (B) f’ko 

(C) czãk     (D) bUnz 

Which Hindu deity has a temple in Ankorwat? 

(A) Vishnu     (B) Shiva 

 (C) Brahma     (D) Indra 

7- xka/khth dks ^egkRek* dh mikf/k fdlus nh \ 

(A) johUnz ukFk VSxksj    (B) ,uh cslsaV 

(C) xksiky d`".k xks[kys   (D) vCnqy dyke vktkn  

Who gave the title of ‘Mahatma’ to Gandhiji?      

(A) Ravindra Nath Tagore  (B) Annie Besant 

(C) Gopal Krishna Gokhle  (D) Abdul Kalam Azad 

8- **iw.kZ LojkT; fnol** dc euk;k x;k Fkk \ 

(A) 26 tuojh 1930    (B) 26 tuojh 1931   

(C) 26 tuojh 1949    (D) 26 tuojh 1950 
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When was “Purna Swaraj Day” celebrated? 

(A) 26 January 1930   (B) 26 January 1931 

(C) 26 January 1949   (D) 26 January 1950 

9- ghjkdqaM ifj;kstuk gS % 

(A) egkunh unh ij    (B) xksnkojh unh ij 

(C) d`".kk unh ij    (D) pacy unh ij 

Hirakund project is on the : 

(A) Mahanadi river    (B) Godavari river  

(C) Krishna river    (D) Chambal river 

10- xq: xksfoUn flag th dk tUe fdl uxj esa gqvk Fkk \ 

(A) ve`rlj     (B) iVuk  

(C) ykgkSj     (D) bykgkckn 

In which city was Guru Govind Singh Jee born? 

(A) Amritsar      (B) Patna 

(C) Lahore     (D) Allahabad 

11- bZLV bafM;k dEiuh Hkkjr ls vQhe dk fu;kZr fdl ns’k dks djrh Fkh \ 

(A) vesfjdk dks    (B) phu dks   

(C) tkiku dks     (D) vQxkfuLrku dks 
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To which country did the East India Company export opium from 

India? 

(A) America     (B) China  

(C) Japan     (D) Afghanistan 

12- :lks fdl ns’k dk nk’kZfud Fkk \ 

(A) Ýkal      (B) vesfjdk  

(C) :l      (D) baXyS.M 

Rousseau was the philosopher of which country? 

(A) France     (B) America 

(C) Russia     (D) England 

13- fuEufyf[kr esa dkSu uohdj.kh; lalk/ku gS \ 

(A) isVªksy     (B) dks;yk   

(C) ty      (D) ykSg v;Ld 

Which of the following is renewable resource? 

(A) Petrol     (B) Coal 

(C) Water     (D) Iron Ore 

 

14- tkeuxj rsy 'kks/kd dkj[kkuk fdl jkT; esa fLFkr gS \ 
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 (A) xqtjkr     (B) vka/kz izns’k 

 (C) vle     (D) rfeyukMq 

In which state is the Jamnagar oil refining factory located? 

(A) Gujrat            (B) Andhra Pradesh 

(C) Assam          (D) Tamil Nadu 

15- rkjkiqj ijek.kq fon~;qr dsUnz gS % 

(A) xqtjkr     (B) egkjk"Vª  

(C) rfeyukMq     (D) jktLFkku  

Tarapur atomic power station is in : 

(A) Gujrat     (B) Maharashtra 

(C) Tamil Nadu    (D) Rajasthan 

16- i;kZoj.k laj{k.k gsrq igyk fo’o f’k[kj lEesyu dgk¡ gqvk Fkk \ 

(A) LVkWdgkse     (B) ekLdks 

(C) isfjl     (D) U;w;kdZ 

Where was the first world summit for environmental protection 

held? 

(A) Stockholm    (B) Moscow 

(C) Paris     (D) New York 

17- 1992 bZ- esa i`Foh lEesyu dgk¡ gqvk Fkk \ 
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(A) <+kdk     (B) dksyEcks  

(C) chftax     (D) fj;ks Mh tusfj;ks  

Where was the Earth summit held in 1992 ? 

(A) Dhaka     (B) Colombo  

(C) Beijing     (D) Rio de Janeiro 

18- Hkkjr esa dks;ys dk loZizeq[k mRiknd jkT; gS % 

(A) vksfM’kk     (B) >kj[k.M  

(C) if’pe caxky    (D) NŸkhlx<+ 

The leading Coal producing state in India is : 

(A) Odisha     (B) Jharkhand  

(C) West Bengal    (D) Chhattisgarh 

19- Hkkjr esa loZizeq[k pkoy mRiknd jkT; gS % 

(A) i0 caxky       (B) fcgkj   

(C) mŸkj izns’k     (D) dsjy 

The leading rice producing state in India is : 

(A) W. Bengal    (B) Bihar     

(C) Uttar Pradesh    (D) Kerala 

20- Hkkjr esa jsfM;ks dk igyk izlkj.k fdl o"kZ gqvk Fkk \ 

(A) 1923     (B) 1930  

(C) 1933      (D) 1935 
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In which year was the first broadcast of Radio in India 

transmitted? 

(A) 1923     (B) 1930 

(C) 1933     (D) 1935 

21- Hkkjr esa gfjr Økafr 'kq: gqbZ % 

(A) 1965 esa     (B) 1966 esa 

(C) 1967 esa     (D) 1968 esa 

Green revolution started in India in : 

(A) 1965     (B) 1966   

(C) 1967     (D) 1968 

22- lwrh diM+k m|ksx dk dPpk eky gS % 

(A) twV      (B) dikl 

(C) js’ke     (D) buesa ls dksbZ ugha 

The raw material of Cotton textile industry is : 

(A) Jute     (B) Cotton 

(C) Silk     (D) None of these 

23- js’keh oL= mRiknu dk izeq[k dsUnz gS % 

(A) y[kuÅ     (B) iVuk 
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(C) dkuiqj     (D) Hkkxyiqj 

The main centre of Silk cloth production is : 

(A) Lucknow     (B) Patna  

(C) Kanpur     (D) Bhagalpur 

24- moZjd dkj[kkuk vofLFkr gS % 

(A) cjkSuh esa     (B) ck¡dk esa   

(C) Hkxokuiqj esa    (D) cxgk esa 

Fartilizer factory is located in : 

(A) Barauni     (B) Banka 

(C) Bhagwanpur    (D) Bagaha 

25- jaxHksn dh uhfr ds fo:) vkokt fdlus mBk;h Fkh \ 

(A) tktZ MCY;w- cq’k    (B) ekfVZu ywFkj fdax   

(C) tktZ okf’kaxVu    (D) vczkge fyadu 

Who had raised the voice against Apartheid policy? 

(A) George W. Bush   (B) Martin Luther King  

(C) George Washington   (D) Abraham Lincon 

26- /keZ dks leqnk; dk eq[; vk/kkj ekuus okys O;fDr dks dgk tkrk gS % 

(A) tkfroknh     (B) lkaiznkf;d 
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(C) /keZ fujis{k     (D) vkn’kZoknh 

The person who considers religion as mainstay of community is 

called: 

(A) Racist     (B) Communal 

(C) Secular     (D) Idealist 

27- Hkkjr esa jk"Vªh; efgyk vk;ksx vf/kfu;e dc cuk Fkk \ 

(A) 1960     (B) 1972  

(C) 1982     (D) 1990  

When was the National Commission for women act in India set-

up? 

(A) 1960     (B) 1972  

(C) 1982     (D) 1990 

28- Hkkjr esa lafo/kku lHkk dk xBu dc gqvk \ 

(A) 1946     (B) 1947  

(C) 1948     (D) 1949  

When was the Constituent Assembly constituted in India? 

(A) 1946     (B) 1947 

(C) 1948     (D) 1949 

29- rsyaxkuk jkT; dk xBu dc gqvk Fkk\ 
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(A) 2 twu 2014    (B) 2 twu 2015 

(C) 2 twu 2016    (D) 2 twu 2017 

When was Telangana state formed? 

(A) 2 June 2014    (B) 2 June 2015 

(C) 2 June 2016    (D) 2 June 2017 

30- **fpidks vkUnksyu** dh 'kq#vkr fdl jkT; ls gqbZ \ 

(A) xqtjkr     (B) >kj[kaM  

(C) mŸkjk[kaM     (D) jktLFkku 

Which state started the “Chipko movement”? 

(A) Gujrat     (B) Jharkhand 

(C)  Uttarakhand    (D) Rajasthan 

31- **yksdra= dk izk.k** fdls dgk tkrk gS \ 

(A) jktuhfrd ny    (B) lkekftd ny 

(C) /kkfeZd ny     (D) ukxfjd laxBu 

Which is called the “Soul of Democracy”? 

(A) Political Party    (B) Social Party 

(C) Religious Party   (D) Civic Organisation 

32- fuEufyf[kr esa ls dkSu ,d jk"Vªh; ny gS \ 
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(A) turk ny ¼;w½    (B) Mh- ,e- ds- 

(C) Hkkjrh; turk ikVhZ   (D) yksd tu’kfDr ikVhZ 

Which of the following is a National Party? 

(A) Janta Dal (U)    (B) D. M. K 

(C) Bhartiya Janta Party   (D) Lok Janshakti Party 

33- Hkkjr esa yksdra= dh D;k pqukSrh gS \ 

(A) tkfrokn      (B) vkradokn 

(C) ifjokjokn     (D) buesa lHkh 

What is the challenge of democracy in India? 

(A) Casteism     (B) Terrorism 

(C) Familialism    (D) All of these 

34- fdlus dgk] ^^yksdra=  turk dk] turk ds }kjk rFkk turk ds fy, 'kklu 

gS**\ 

(A) vjLrq      (B) :lks 

(C) vczkge fyadu    (D) xzhu 

Who said, “Democracy is the government of the people by the 

people and for the people”? 

(A) Aristotle     (B) Rousseau 

(C) Abraham Lincoln   (D) Green 
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35- fuEukafdr esa dkSu lk dne yksdrkaf=d lq/kkj dk lwpd gS \ 

(A) vf’k{kk       (B) iapk;rh jkt  

(C) lkekftd vlekurk    (D) buesa ls dksbZ ugha 

Which of the following steps is an indicator of democratic reform? 

(A) Illiteracy     (B) Panchayati Raj 

(C) Social inequality   (D) None of these 

36- Hkkjr ds ;kstuk vk;ksx ds v/;{k dkSu Fks \ 

(A) jk"Vªifr      (B) mi jk"Vªifr 

(C) iz/kkuea=h     (D) buesa dksbZ ugha 

Who was the Chairman of Planning Commission of India? 

(A) President    (B) Vice President 

(C) Prime Minister    (D) None of these 

37- Hkkjr esa izFke iapo"khZ; ;kstuk dh 'kq:vkr dc gqbZ \ 

(A) 1950     (B) 1951  

(C) 1952     (D) 1953  

When did the first five year plan begin in India? 

(A) 1950     (B) 1951 

(C) 1952     (D) 1953 

38- fcgkj esa fdl ftys dh izfr O;fDr vk; lcls de gS \ 
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(A) eqt¶Qjiqj     (B) njHkaxk  

(C) x;k      (D) f’kogj  

Which district has the lowest per capita income in Bihar? 

(A) Muzaffarpur    (B) Darbhanga 

(C) Gaya     (D) Shivhar 

39- vk/kqfud ;qx dh izxfr dk Js; eqnzk dks gh gS & ;g dFku fdldk gS \ 

(A) VªsLdkWV      (B) ek’kZy 

(C) ØkmFkj     (D) buesa ls dksbZ ugha 

The credit for progress of modern era goes to money alone – 

whose statement is this? 

(A) Trescot     (B) Marshal 

(C) Crowther     (D) None of these 

40- caXykns’k dh eqnzk dk uke D;k gS \ 

(A) nhukj      (B) #i;k  

(C) ;wjks      (D) Vkdk 

What is the name of the currency of Bangladesh? 

(A) Dinar     (B) Rupee 

(C) Euro     (D) Taka 

41- Hkkjr esa lgdkfjrk vkUnksyu dk izkjEHk dc gqvk \ 

(A) 1900      (B) 1902  
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(C) 1904     (D) 1905  

When did the Co-operative movement start in India? 

(A) 1900     (B) 1902 

(C) 1904     (D) 1905 

42- Hkkjr esa fdrus jk"Vªh;d`r cSad gSa \ 

(A) 15       (B) 19  

(C) 21      (D) 25 

How many Nationalised Banks are there in India? 

(A) 15      (B) 19 

(C) 21      (D) 25 

43- Ekkuo dh U;wure vko’;drk D;k gS \ 

(A) jksVh] diM+k vkSj edku    (B) jksVh] Qy vkSj lCth 

(C) diM+k] jksVh vkSj lCth   (D) rsy 

What is the minimum requirement of human being? 

(A) Bread, Cloth and House   

(B) Bread, Fruits and Vegetables 

(C) Cloth, Bread and Vegetables     . 

(D) Oil 

44- buesa dkSu iw.kZr% ljdkjh lsok gS \ 
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(A) LokLF; lsok     (B) f’k{kk lsok 

(C) lSU; lsok     (D) ok;q;ku lsok 

Which of these is a complete government service? 

(A) Health Care    (B) Education Service 

(C) Military Service   (D) Air Service 

45- Hkkjr ljdkj us *lwpuk dk vf/kdkj* vf/kfu;e dc ikfjr fd;k \ 

(A) 2005      (B) 2006  

(C) 2007     (D) 2008  

When did the government of India pass the ‘Right To Information 

Act’? 

(A) 2005     (B) 2006 

(C) 2007     (D) 2008 

46- ^^lqukeh** 'kCn fdl Hkk"kk ls fy;k x;k gS \ 

(A) Lisfu’k      (B) baxfy’k  

(C) pkbuht     (D) tkikuh 

From which language has the word, “Tsunami” been derived? 

(A) Spanish     (B) English 

(C) Chinese     (D) Japanese 

47- fuEufyf[kr esa dkSu izkdf̀rd vkink gS \ 
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(A) ce foLQksV     (B) HkwdEi 

(C) ;q)      (D) jklk;fud nq?kZVuk,¡ 

Which of the following is a natural disaster? 

(A) Bomb blast    (B) Earthquake 

(C) War     (D) Chemical accidents 

48- eyos ds uhps ncs gq, yksxksa dk irk yxkus ds fy, fdl ;a= dh enn yh 

tkrh gS \ 

(A) gsyhdkWIVj      (B) nwjchu  

(C) baÝkjsM dSejk    (D) VsyhLdksi 

Which instrument is used to locate people buried under debris? 

(A) Helicopter    (B) Binocular 

(C) Infrared Camera   (D) Telescope 
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Section-B

 / Non-Objective Type Questions 

Short Answer Type Questions 

History

iz’u la[;k 1 ls 05 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 03 iz’uksa ds mÙkj nsaA izR;sd 

ds fy, 2 vad fu/kkZfjr gSA        ¼ x2= ½ 

Question no. 1 to 5 are Short answer type. Answer any 03 questions. Each 

question carries 2 marks.       (3X2=6) 

1- teZuh ds ,dhdj.k dh ck/kk,¡ D;k Fkha \     ¼2½ 

What were the obstacles to the unification of Germany? 

2- [kwuh jfookj D;k gS \        ¼2½ 

What is bloody Sunday? 

3- Xkka/khth us ued dkuwu D;ksa rksM+k \     ¼2½ 

Why did Gandhiji break the Salt law? 

4- vkS/kksfxd Økafr ls vki D;k le>rs gSa \     ¼2½ 

What do you understand by Industrial Revolution? 

5- Lora= Hkkjr esa izsl dh Hkwfedk ij izdk’k MkysaA    ¼2½ 

Throw light on the role of press in Independent India. 
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Long Answer Type Questions

 iz’u la[;k 6] 7 nh?kZ mÙkjh; iz’u gSA buesa ls fdlh ,d dk mÙkj nsa \ (4X1=4) 

Question no. 6 and 7 are long answer type questions. Answer any one of 

the following.         (4x1=4) 

6- teZuh ds ,dhdj.k esa fcLekdZ dh Hkwfedk dk o.kZu djsaA 

Describe the role of Bismark in the unification of Germany. 

7- Hkkjrh; jk"Vªh; vkUnksyu esa xka/khth ds ;ksxnku dh foospuk djsaA 

Discuss Gandhiji’s contribution to Indian National Movement. 

POLITICAL SCIENCE

iz'u la[;k 8 ls 13 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha nks iz’uksa ds mÙkj nsaA izR;sd 

ds fy, 2 vad fu/kkZfjr gSA        ¼2x2=4½ 

Question no. 8 to 13 are short answer type. Answer any two questions. 

Each question carries 2 marks.      (2x2=4) 

8- ca/kqvk etnwj fdls dgrs gSa \       ¼2½ 

who is called bonded labour? 

9- ftyk ifj"kn ds fdUgha nks dk;ksZa dks fy[ksaA     ¼2½ 

Write any two functions of Zila Parishad. 

10- ny&cny dkuwu D;k gS \       ¼2½ 
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What is anti-defection law? 

11- Ykksdra= ls vki D;k le>rs gSa \      ¼2½ 

What do you understand by Democracy? 

12- oa’kokn ls vki D;k le>rs gSa \      ¼2½ 

What do you mean by nepotism? 

13- D;k f’k{kk dk vHkko yksdra= ds fy, pqukSrh gS \    ¼2½ 

Is the lack of education a challenge for Democracy? 

Long Answer Type Questions

iz’u la[;k 14 ,oa 15 nh?kZ mÙkjh; iz’u gSA fdlh ,d dk mÙkj nsa \  (4x1=4½  

Question no. 14 and 15 are long answer type questions. Answer any one of 

the following.           (4x1=4½ 

14- uxj fuxe ds eq[; dk;kZsa dk o.kZu djsaA     ¼4½ 

Describe the main function of Municipal Corporation. 

15- Ykksdra= esa foi{kh ny dh Hkwfedk dk foospu djsaA    ¼4½ 

Discuss the role of opposition party in democracy? 
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Economics

iz'u la[;k 16 ls 18 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 2 iz’uksa ds mŸkj nsaA izR;sd 

ds fy, 2 vad fu/kkZfjr gSaA        ¼2x2=4½ 

Question no. 16 to 18 are short answer type. Answer any 2 questions. Each 

question carries 2 marks.         (2X2=4) 

16- jk"Vªh; vk; D;k gS \        ¼2½ 

What is national income? 

17- xSj ljdkjh lsok fdls dgrs gSa \      ¼2½ 

What is called non-government service? 

18- futhdj.k ls vki D;k le>rs gSa \      ¼2½ 

What do you understand by privatisation? 

Long Answer Type Questions

 iz’u la[;k 19 vkSj 20 nh?kZ mÙkjh; iz’u gSA buesa ls fdlh ,d dk mÙkj nsa\ 

(4x1=4½  

Question no. 19 and 20 are long answer type questions. Answer any one of 

the following:          (4x1 = 4) 

19- vkfFkZd fodkl ds eq[; {ks=ksa dk o.kZu djsaA    ¼4½ 

Describe the main sectors of economic development. 

20- Ckktkj esa miHkksDrk ds dŸkZO;ksa dk o.kZu djsaA    ¼4½ 

Describe consumer’s duties in the market. 
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Geography

iz'u la[;k 21 ls 25 rd y?kq mÙkjh; gSa\ fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 

vad fu/kkZfjr gSA         ¼3x2=6½ 

Question no. 21 to 25 are short answer type. Answer any 3 questions. Each 

question carries 2 marks.       (3x2=6) 

21- Hkkjr ds fdUgha pkj rsy 'kks/kd dkj[kkuksa ds uke fyf[k,A 

Write the names of any four oil refining factories of India. 

22- [kk| lqj{kk ls vki D;k le>rs gSa \ 

What do you understand by food safety? 

23- m|ksxksa ls iznw"k.k dSls QSyrk gS \ 

How does pollution spread from industries? 

24- fcgkj esa vkS|ksfxd fiNM+siu ds dksbZ nks dkj.k fy[ksaA 

Write any two causes of industrial backwardness in Bihar. 

25- fcgkj esa twV mn~;ksx ds nks dsUnzksa ds uke fyf[k,A 

Write the names of two centres of jute industry in Bihar. 

Long Answer Type Questions

 iz’u la[;k 26 ,oa 27 nh?kZ mÙkjh; gSaA fdlh ,d iz’u dk mÙkj nsaA (4x1=4) 

Question no. 26 and 27 are long answer type. Answer any one question. 

           (4x1=4) 
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26- [kfutksa ds laj{k.k ds fy, mik; crkb,A 

Suggest measures for the conservation of minerals. 

27- ifjogu ,oa lapkj lsokvksa dh mi;ksfxrk ij izdk’k MkysaA 

Throw light on the utility of transport and communication services. 

Disaster Management

iz'u la[;k 28 ls 31 rd y?kq mÙkjh; gSaA fdUgha 2 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 

vad fu/kkZfjr gSA         ¼2x2=4½ 

Question no. 28 to 31 are short answer type. Answer any 2 questions. Each 

question carries 2 marks.        (2x2=4) 

28- o"kkZ ty laxzg.k ls vki D;k le>rs gSa \ 

What do you understand by rain water harvesting? 

29- lq[kkM+ ds izHkko dks de djus ds mik;ksa dk mYys[k djsaA 

Mention the measures for minimizing the effects of drought. 

30- Hkwdaih; rjaxkas ls vki D;k le>rs gSa \ 

What do you understand by seismic waves? 

31- iquokZl D;k gS \ 

What is rehabilitation? 


